
2

,

0

2,5

3

,

0

P

R

O

P

U

S

T

 

5

k

m

 

3

,

0

1

1

 

8

1

S

 

K

A

M

E

N

N

Ý

M

I

 

P

Ř

E

K

L

A

D

Y

č

e

l

o

 

v

t

o

k

:

č

e

l

o

 

v

ý

t

o

k

:

K

A

M

E

N

N

É

 

Č

Á

S

T

E

Č

N

Ě

 

S

 

Ř

Í

M

S

O

U

K

A

M

E

N

N

Ý

 

P

Ř

E

K

L

A

D

 

S

 

V

Y

Z

D

Ě

N

Ý

M

I

 

K

A

M

E

N

N

Ý

M

I

 

S

T

Ě

N

A

M

I

v

y

b

a

v

e

n

í

:

-

P

R

O

P

U

S

T

 

4

k

m

 

2

,

9

6

1

 

6

5

B

E

T

O

N

D

N

3

0

0

č

e

l

o

 

v

t

o

k

:

č

e

l

o

 

v

ý

t

o

k

:

v

y

b

a

v

e

n

í

:

-

P
R

O
P

U
S

T
 
3

k
m

 
2
,
6
5
1
 
0
0

B
E

T
O

N
D

N
4
0
0

č
e
l
o
 
v
t
o
k
:

č
e
l
o
 
v
ý
t
o
k
:

B
E

T
O

N
O

V
É

 
N

O
V

É
 
B

E
Z

 
Ř

Í
M

S
Y

B
E

T
O

N
O

V
É

 
N

O
V

É
 
B

E
Z

 
Ř

Í
M

S
Y

v
y
b
a
v
e
n
í
:

-

P

R

O

P

U

S

T

 

2

k

m

 

1

,

9

0

4

 

6

1

O

C

E

L

D

N

3

0

0

-

4

0

0

č

e

l
o

 

v

t

o

k

:

č

e

l
o

 

v

ý

t

o

k

:

K

A

M

E

N

N

Ý

 

P

Ř

E

K

L

A

D

 

S

 

V

Y

Z

D

Ě

N

Ý

M

I

 

K

A

M

E

N

N

Ý

M

I

 

S

T

Ě

N

A

M

I

B

E

T

O

N

O

V

Ý

 

N

O

V

Ý

 

B

E

Z

 

Ř

Í

M

S

Y

v

y

b

a

v

e

n

í

:

-

V

 

Č

Á

S

T

I

 

U

 

V

T

O

K

U

B

E

T

O

N

 

D

N

 

6

0

0

F

i
l
i
p

o

v

a

 
H

o

r
a

PODROBNÁ SITUACE 1:500

sil. III/190 2 Mrákov - Maxov, díl 3.

úsek: km 1,930 až km 2,900


